There are five trigonometric identities that must know. For any angles x and y,
1. sin’(x)+cos’(x)=1

2. sin(—x) = —sin(x) o ©°DD
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3. cos(—x) = cos(x) L? "Evew”

4. sin(x+ y) = sin(x) cos(y) + sin( ) cos(x) B
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5. cos(x+y) = cos(x)cos(y)—sin(x)sin(y)

Solve the trigonometric equation for all angles x in the interval [-m,27].
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Sketch the graph of  f(x) = 3—2sin(x)
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Suppose the temperature (in degrees) as a function of time t (in years) is given by
N(t)=214+12.7sin(2z(t —1/3))

a) What is the highest and lowest temperature in a year?

b) At what time in the year does temperature reach its maximum?
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